Cheristry 3311-100
Organic Chemistry/Dr. Bamey Ellison
Thursday: Feb. 18 @ 19:00 — 21:00/1" Exam/Math 100

Name: k.'?.,j {please print)

L 2 i 4. 5. . 7 3 Total

1. {10 pi=} Draw all the tscmers of “chloropentane,™ CyH,, C2. g_ of
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2. (10 pts) What is the approvamate hybridization of carbon in each of the tollowing

compounds?
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3. (10 pts) Draw Newman projections of alf the eclipsed and staggered conformations of
1.2-dichloropropane by looking down the C=—C; bond.
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4. (10 pis) A. Draw struchires for;

i) (E}3-luoro-3-hexens
A/~ -
i} (E}4-ethyl-3-heptene
Iy ! \»"’\
it} (Z)-1-bromo-2-chlero-2-flucro-1-iodoethylene
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B. Which of the following alkenes is capable of (Z/E) isomeri zation?
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> (10 pts) Write structures for all the isomers of dibromocyclobutane. Which ones have

zero dipole moment?
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6. {15 pts) Contrast CH,CH;CH,Cf and CH,CH=CHCY.

» How many isomers of CHyCHyCH;C# are there (separate molecules that can be put
in a bortle)? Name them. |— cLd vniu cla e i b% iy pean

e How many isomers of CH,CH=CHC{ are there? Name them. Why don't these
alkenes interconvert at room temperanure?
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7. (15 pts} Consider the molecules: CHy, CH,y", and CH,™
& Draw an explicit structure for each species,

*  What is the hybridization of each carbon?
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§. (15 pts) Draw the Newman projection for looking down the =~y bond in 23-
dimethylbutane. Make a graph of the conformational energy as a funcrion of dibedral
angle,8. Start your graph at 8 = 0°, the conformation that is symmetrically eclipsed.
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